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GE
(., Which mugical instrument 18 commonly used in Punjabi folk music ?
(A) Tabla (B) Tumbi
(C) Veena (D) Flute
L'mTﬂTﬂﬁ*ﬁEﬁHf&HWWW%'QWWﬂT
(A) FEE (B) £t}
) &= (D) dwdt

nown as “Hind Di Chadar” for sacrificing his life to pmlﬂﬂt*fﬂligiﬂﬂ ?

3. Which Sikh Guru is k
(B) Guru Tegh Bahadur Ji

(A) Guru Arjan Dev )i

(C) Guru Hargobind Sahib Ji (D) Guru Gobind Singh Ji '

m%ﬁﬁmﬁﬁwwmhm“ﬁeﬁm"WW?ﬂ
(B) g 31 HUET Gl

(D) a]gﬁ’rfé‘eﬁiw;ﬁ

3. Which Mughal governor of Sirhind was killed by Banda Singh Bahadur ?

(A) Zakaria Khan (B) Wazir Khan
(C) Aurangzeb (D) Mir Mannu
Agfde € ha%uamgra@a'ﬁﬁe*fﬁww%wﬁwﬁr?
(A) TG HS (B) =g H'G
(C) WidamE () e Hg
4. How many Sikh Misls were there in total ?
(A) 10 (B) 12
© 15 (D) 18
o faatort fifd first As? -
(A) 10
(B) 12

C

| € 15 _ (D) 18

5. Which precious diamond was once
(A) Daria-i-Noor : nfMahga;a Rl(an}]i;t B e
© F ; ohinoor
i mmf;ﬂr (D) Peacock Throne Jewel

HargTr gEAts fAw @ ¥R R faaar oftw=t dier wie i

© Ul ((D)) He fiums

diar
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11.

13.

14.

15.

GENERAL MENTAL ABILITY

Find the missing value in the following number series,

3, 8, 18, 35, 7, 98
(A) 71 (B) 61
© 51 (D) 41
U5 193 Hifeontr w54 g g Hifn § 953 |
.3, 8,18, 35, 7, 98 .
(A 71 (B) 61
(C) 51 (D) 41
lked 25 metres toward South. Taking a turn to his left, he
€s. Again, he turned 1, his

Starting from point “Z”, Mohan wa
walked 50 metres. Taking another left turn, he walked 25 metr
I metres and reached a point “X”, H

on ?

ow far is Mohap from

(B) 25 metres north

(A) 10 metres east
(C) 40 metres south (D) 10 metres west
ffg“z” Iggaae e, HI& e 25 25 Hieg Ifamm| WU HI UA NI, 89 50 Hica 3fam

YR Hio w3 60 e = 17

feawiﬁaﬂ‘ﬂwﬁag*a“,@azsﬁeagﬁm%a,@awéﬂﬁ
ﬁhﬁ»@ﬁwﬁg*w**ﬁuﬁﬁw%ﬁﬁg‘i“é‘ﬁﬁf@é»@ﬁﬂfﬂwﬁaﬁ?
(A) 10Hlegygy (B) 25Hieg €53
(C) 40 Hica Ty= (D) 10 Hiea UeH
A’s mother is the sister of B, and daughter of C. D is the daughter of B and sister of E. How
is E related to C ?
(A) Son (B) Brother
(C) Father (D) Data inadequate 1
Azﬂ}{gazﬁaé»@ce’tmﬂrﬂ,ﬂrﬁﬁmﬁﬁ@%élE@cmﬁﬁéuﬁ?
(A) Y39 (B ST
©) fuzr (D) AT EaE A
rking”, “958” means “hardworking

In a coding scheme, “786” mp’ﬁns “Student very hardw,
t will be the code for “very” ?

workef pay” and “645” megns “studént and worker”,

(A6l = | (B) 7

(©) 8 g : (D) 5

e afsar Fati 9, “786” =1 wigg 3 “FT3 Paadt fefenaat:, <958+ g 3 fhoad
“Feferrael »2 gmrd | “Gg3” BE s o dearo

IHTS IEHT W3 “645” T gy 3
(B) 7

(A) 6

€ 8 (D) 5

All the students of a class are standing in a single row, One student is nineteenth in order
otal number of students in the class.

from both ends. Calculate the t
(A) 38 (B) 36
1(%2 - v A1d fefonmad firg ECRE (Dr%'as? o 3
IBH 9319 T 184 fefonrast St finfamyi I fee gl
a:m%ma@mamm 3
(A) 38 (B) 36
(©) 39 (D) 37
/9

& T
E;;;; K{i [ . It
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le,

17.

18.

19,

0.

in the

Whiclh ﬁgylrc from the answer figures will come in place of the guestion mark (7)

Question given below ?

It 2 FeTs e yrs-fdg (2) 9 o €393t Y fagar fd3a wiean 2
Question Figure / YH6-
@sﬁzﬁoﬁoﬁ :

l"

CO— O ACO—= A0

Answer Figures / Q?a—ﬁ':—:a
< i

—~[OA =w
K i e

S A = - A

On 1* January, 2004, Thursday falls. What day of the week was iton 1

*t January, 2005 7

(A} Fﬂda}r {'B} M[}ﬂda}’
(C) Saturday (D) Wednesday

| 75, 2004 §, e Al 1 7o, 2005 % 923 ¥ fag fes 712

(A) Had<Ed ' (B) WM<

(C) HARWY (D) ¥U=S

A:Tﬂﬂge the given words in the sequence in which they occur in the dictionary.
ﬁ?aﬂmﬁﬁﬂwﬁamﬂfﬂaaﬁmﬂfﬁ@m-ﬁﬁﬁﬂm@@m |

1.. Rope. 2.  Roasted 3.  Roller 4. Road

@A) 1,2,3,4 (B) 4,2,3,1 (O82,3,4,1 D) 4,3,2,1
Three of the following four are alike in a certain way and so form a group. Find the one that
does not belong to the group.

(A) Adversity (B) Misery

(C) Fortune (D) Catastrophe
ﬁsmﬁw&ﬁﬁaﬁawaﬁmﬁﬁm%h@ﬁﬂsﬁﬁawﬁw@%aﬁ\ grd
37 g &8 AEU3 & 9

(A) HATES (B) ®H

) fam3 (D)

Deafness is to Hearing as Stammering is to :

(A) Noise (B) Tongue

(C) Speech (D) Silence
Hﬁmﬁmm@%ﬁﬁmﬂb reyaa

(A) W3 . - (B) T

(C) IWE (D) B
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TEACHING POTENTIAL TEST
21. The important task of the teacher in the classroom is to understand the individual difference
among the students as it helps him ?
(A) To punish weak students
(B) To reward bright students
(C) In classifying the students into different groups
(D) To cater to the learning requirements of the individuals
FETH g feg niftmims T HIIRyas o fefenmaeis e feniasian 39
fafea @R § Hee aaT &
(A) FHd fefonaen § Aa ¥ BE
B) firs fefmmading § feani 2= 59
(C) fefomge & <4-2y Tyl &8 ST 995 B
D) ferasiers e 93 fifz it 7gast § Y9 56 B¢

& e d g

' 22. Why do teachers need to vary motivational techniques ?
(A) Because students easily get bored
(B) Because every child differs in personality and so
(C) Because teachers have limited resources
(D) Because goals of education keep changing daily
Wﬁmﬁamﬁaﬁﬁm&ﬁ@aﬁ@%?
() fagfa fefenad »ATE] 75 88 JHE T
(B) ﬁﬁhwﬂwms»@mma.wmmmma@a
(©) faGfa it <% HiHE Hd3 RIS
Dy fera o 2 9 s SR IR T

e cardinal principles of Education Policy th
ability

cio-economic background

at SWAYAM seeks to achieve are .

23. The thr
(A) Access, Accountability, Afford

(B) Access, Equity, Quality
(C) Quality, Efficiency, Economy

(D) Equity, Excellence, Expansion
fifemr 311 € s o fATi3 H SWAYAM 3 93E T I BITE:

(A) uja,mﬁ,wfeaﬁ
(B) yJa, faathizt, T3
® s, ST, M’
(D) frqpz1, G343, IeHETd
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27.

28.

29.

30.

<1

Which of the following is th i ; istic of ¢ aching a1d
(A) It should be de;fr;iv: most important characteristic of a good teaching #i¢
(B) It should be meaningful and purposeful
(C) It should be complicated
j{-‘;‘?-; It should be expensive
9aft frfkpon Farfegr € 79 3 vidzeyas fermsr i 92
(4) IR A ey
{g} EW’HQQ@HQHEM T Q |
(©) JITBEY ISt J |
(D) fegyTdEt IR et |

"’T'ui:h of the following is NOT an example of a visual aid 7
(A) Flash cards (B) Pictures

Sl Cns (D) Radio
fEgst 49 fager fandtor rofes <t @egas &d1 9 2

(A) SBHITS (B) IASID
(©) ¥ (D) dI36

ICT supports teachers’ professional development by : -

(A) Limiting training to face-to-face only

(B) Offering courses in a virtual environment through online modes
(C) Avoiding sharing of experiences and materials

(D) Removing collaboration opportunities

m.m.a.mwmmémmamma?

(A) sl § fag »on-AgHe 3 HhH3 995
(B) Hgii grdl WieTH T3<ds o9 JaH UH 996

(©) WWWEWW?W

(D) HfouaIR Hiemi § I

on research and training in India is :

The apex body for school educati

(A) NCTE (B) UGC

(C) NCERT (D) AICTE

Wfé‘gﬂgsfﬁmwﬂﬂméfﬂmmfﬂumﬁﬁwﬁ:

A) MeHE. ® G

(©) MaREnEd o) THEARALA

NIEPA stands for

NIEPA €1 %J8 J B

(A) National Institute of Educational Planning and Adm‘ml‘stratmn

(B) National Institution of Elementary Pedagogy Asslumaunn
stitution of Environmental Protection Agency

and Agency

(C) National In _ '
(D) National Institute of Educational Preparing
8
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The H-C
one of Experience,” a pictori ;
(A) John . a pictorial device of audio-vigual aids
ohn Dewey sual aids, was proposed by
(B)

{:‘;; Jerome Bruner e Edgar Dale
I g M ; Jean Piaget
Mo , He=-fom Fos o ¥ fgaard waa fan ey,
e (B) WSdd 38
(C) wIH Egad Bt

33.  The full form of ICT is :
ICTETYd gy
(A) International Communication Technology
(B) Information and Communication Technology
(C) Interpersonal Computer Technique
(D) Integrated Communication Tool

34. On which date did NCTE come into existence as a statutory body ?
(A) 26" January, 1950 (B) 5" September, 1980
(C) 17" August, 1995 (D) 1% January, 2000
22 roghife Rl far IdH G feq qge HAE T ferg T feg wrEl?

(A) 2676, 1950 (®) 573, 1986
(C) 17 dH3, 1995 (D) 1 &S, 2000

35. Akey function of school as 2 social group is 10

(A) Promote roté learning
(B) Separate pupils from society
(©) Stimulate a healthy social life

(D) Discourage responsibility in pupils
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IS fonft =rgza el §uF »i3 Ia 3 and Yt @ Qg fel (s 45-50)
foi il @ »iera 2 A A3 ied yill Tt sfaat s T8 31 AE HE FHE 199 ne e

GET IT ON
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|
2w @ FAla it g9 Il fen T yEeTe Fae gt 9 2 I8 R HAS 58 Mo E Gae
| ity Wiy &yt (€9 7S I B 7E TS Al @R a1E 98 | ue Bdl 7R 6 3 feg A

Mfoe a7 © gU U9 8013 e § »ifl B9-am8 o o1 il gi| B9-5m9 H6 T YHl = Adifad ygrer
I g 2 B39 Yart Hignrarg 9 oo 98 IRde T fafo, o, 94, B3I, W0E, Wl w2
fafaa nife Unrdinit @ gons-imrs Ba-57a 98| fatar are Tt yfenma! € HERTE Ba-5m d)
fafer i < 1t @ 418 2 w71 warer 1 ot femimg Trdort @ wiewa 3 foim 33 2 ufenn e

1 A 2 WS 9 Urma Tt Wienial fem § e f3@are @ gu e ardem 6 fam § I =
38T »m I5| mm%mma%wﬁm%ﬁwwm-ﬂ
i A UTEDeft w75 it  fiafd St Bt winR 5 et SR I I niIE WA
® gre.gre YIIe I 9| fotar e Hieniat A wedf g, dfeg & U 95 us fer fard @
Ja1yfenrat = fafdt =gan wdf Jeri fafm weE = ¥ad 3 yfenrat )t udg Wienmat TR 5E
TUq HaTl [eu &dl got| et T edd A9 88 @3 f Jer 3

45. frg WSy Ty i e 3 T TE g T O oS 98 2 92 Sl Ak 76 31 [aud 59

T gy HIHE Miger1d ?
(A) B39 (B) &
(€) FYfgd &g D) Fes-5W
46, BIxER AR IR IT T _
(a) fda&, dar, niraH (B) JIr=, 598, BH
(c) fara, weta, (D) fofm, s, fas
47. H@Eéﬂtﬂ#ﬁ?ﬁﬁmﬁnﬁmmﬁf&ﬂweﬁmﬁﬂ*aﬁ?
(A) <8 YyH=d (B) USTH3
() Shiw 3879 (D) ITBETE
48, T30 S5 WU Ha @ I YdIe 996 B Hienst | urgEnit 95 2
(A) di3 | (B) St
(©) ®€ (D) eI
49. GuIa3 wipAE farmae e d?
(A) Hfenma ®) g
(C) MYfenmd 3J09g €= o) feast f& I &
50. @Easmamaﬁﬂéaﬂswﬂﬁu?;ﬂﬂ'z@é?
(A) Haf3335 - (B) TA3IV
(€ ¥Wa3wAdst (D) ufgerd 3 en3
11
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

HINDI ‘
‘e a1 farem ey
(A) I (B) S
(C) AT (D) WS
) TES B T B ST T 3 it 3 fog b e 1 E 7
(A) It (B) YEufed s
(C) ATTH (D) (A) Tl (B) &
frerferftaa wregi O @ ygu wreg &1 =994 L ey
(A) PIH (B)
(C) 4B () T
o H e STT HETal o1 41 31 B 7
(A) FF G BT (@) o et PR
(C) TG (D) THI
7T T SR AT Y el SBT3 8 7
(A) 3T G (@) HHea g HE
(C) ST HA & WG T A geg A deN (D) I
ST S1eg 1 I vgTEETE IR g |
(A) W@ ' (B) ﬁ_im'ﬂ
(C) @ ' (D) =N
et FrA NP H A 8 7 |
(A) TF ' By W
qt=
(C) =R (D)
‘qﬁn'mﬂaﬁaﬁ—ﬁ%ﬂwm? AT A
(A) Q+A+T+HA+TA (B) A ELH
(D) {+31+?L+31+TL+31

(C) 1:[+3?+?L+341+11+3HT

s 1 forg Aofi o 3A € 7 :
4L,L 9 | T

(A) TR S

(C) 3ide = (D) JENTETE
ﬁﬁwﬁmﬁﬁt{mﬁiﬂé(a)ﬁﬁﬁwm%?

(A) 3R (B) Eﬁ
(C) I ¥ | (D)

12
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6l.

62.

63.

606.

ENGLISH

with a grain of salt™ ?

What does it mean 10 siake it

(A) Toadd galt to a dish
To trust information completely
{hing too seriously

(B)
(C) Tobe skeptical or not take some
(D) To avoid seasoning food
What is the term for a person who believes in the existence of God 7
(A) Atheist (B) Theist (C) Agnostic (D) Skeptic
TIdentify the correctly spelled word ! '
(A) Lethergy (B) Lethargy (C) Letharjy (D) Lethargey
m the options given below :
(B) He is allergic with cats.

Identify the correct sentence fro
He is allergic by cats.

(A) Heis allergic for cats.
(C) Heis allergic to cats.

(D)

Which type of sentence is the following ?

Finish your homework before watching TV-

(A) Imperative (B) Exclamatory (C) Interrogative (D) Assertive

Eill in the blank with the correct preposition:

He is notorious ___ gambling.

(A) in (B) for (C) at (D) with
and choose the correct option :

Identify the correct statements
(1) The certificate was awarded to him by the principal.
(2) The car is parked in front of the garage.

(3) Heis interested for playing chess.
(4) He will meet you in the station.

(A) (1)&(@2) only (B) (@ & (3) only (C) (3)&(4) only
translation of the given sentence :

s ad a3

buy a house.
buy a big house.

D) (1) & (@)only

Choose the correct
§a fifg 257 Wd HIES
(A) Hecan afford to
(B) Heis wealthy enough to

(C) Heis wealthy to buy a house.
(D) He is wealthy because he can buy a big house.

What is the synonym for alleviate ?
(A) Intensify (B) Aggravate (C) Relieve

What is the antonym of exhilarating ?
Stimulating (C) Thrilling

13

(D) Worsen

(D) Boring

(A) Invigorating (B)
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MATHS
71. For any two positive integers a and b, HCF(a, b) x LCM (a, b) = |
(A) axp (B) a+b
(C) a+b (D) b+a
TR 2 Farag. sty Hing (integers) a %3 b BEl, HCF(a, b) ¥ LCM (a, b) =
(A) axp (B) a+b
{C? a+hb (D) b+a
72. Which of the following rational numbers have terminating decimal expansion ?
(A) 1571600 (B) 64/455
(C) 29/343 (D) None of these
fovafays fey frasmt ufew Hfpyrai (rational number) f&9 |3 (terminating) TMm= =
feregdey,
(A) 15/1600 (B) 64/455
(C) 29/343 (D) feast 9 et &t
73.  Which of the following cannot be determined graphically ?
(A) Mean (B) Median
(C) Mode (D) None of these
I3 3 1R farm § et 333 fswraz e et s
(A) . YOus _ (B) Migan
(€) "g&8q (D) fEIsH Y It

74.  The ages of Hari and Harry are in the ratio 5 ; 7. Four
willbe 3 ; 4. Their present ages are ;
(A) 25,35 (B) 20,28

(©) 15,21

years from now the ratig of their ages

(D) 30, 42

I 92 I AR 5 - 72 9iFUT3 (ratio) ¥ | g 399 7S ¥ve 81 & g v vy
3:4iléarr|@§ij‘c‘?ﬁa?% o

“(A) 25,35 (B) 20,28

(C) 15,21 i (D) 30,42 #

f Fa
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82.

83.

Which -movement Gandhiji withdrew on 12" February, 1922 after the ‘Chaura-Chaun W

incident 7

(A) Non-Cooperation Movement (B) Civil Disobedience Movement

(C) Dandi March (D) Quit India Movement
Fa- 3 & wew I o A B 12 gged, 1922 § FE HIRES TR S B H
(A) wAfTET #eEs @) (78 EBIHE MBS

(©) sEHTe D) 933 MESs

To what number the Constituent Assembly members reduced after the partition of India in

1947, as the members elected from the territories which fell under Pakistan ceased to be the

members of the Constituent Assembly ?

(A) 289 (B) 189

(C) 299 (D) 389
wwﬁgmééﬁmﬁmm@ﬁwamﬁaaﬁmmhﬂfaw
émﬁﬁw@ze@mﬁnﬁﬁaﬁa@ﬁﬂaﬁhﬂmw%ﬁaﬂwaﬁ?

(B) 189

(A) 289
(D) 389

(C) 299

The power of discussing and enacting the changes (amendments) to the Constitution of India

lies with which body ?
(A) The Parliament of India (B) The President of India
(C) The Supreme Court of India (D) The Chief Justice of India

m%ﬁmﬁ‘aﬂnéwaﬁmjwmémmmaﬁm
(A) T3 EHAE (B)ama‘@arazau‘.:ﬂ
(C) graaétauaﬂﬂaa‘c' (D) m@ﬂuﬁn

18
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85. Which of the following points is NOT a measure to provide and protect the indep

Judiciary in India ?
(A)  The legislature is not involved in the process of appointment of judges.

(B) The judges have a fixed tenure.
(C) The Constitution prescribes a very difficult procedure for removal of judges-

(D) The judiciary is financially dependent on either the executive or legislature.

ffs Qum & d 2

(A) i fsmaat ot ufsfan i fearaufsa Bvs s 3t 3 |
(B) wriw ¥ fanfoz aamas Jed |
(C) HfeUs Hrt § I8z B¢ ¥q 593 It YA Yfafann fsauras sa=1 d |
(D) feniuiger fEdt 33 3 aranulfee 7 feursufsgsn 3 faggd 3 |

When is the National Voters® Day celebrated annually in India to mark the foundation day

86.
of Election Commission of India ?
(A) 15 January | (B) 1 January
(C) 26 January (D) 25 January
9193 ® U< IS © FEUw feeH § Ho'@e Bl 9103 29 93 AS IHed! HIeT31 foeh 9%
HaTET /i 97
(A) 1576 B) 1 7&=
(C) 26 H&<dl (D) 25 A&
87. Which neighbouring country of India is known as the “Land of Thunderbolts” or “Land of
Thunder Dragon™ ?
(A) China (B) Bhutan
(D) Sri Lanka

(C) Nepal
3793 ® faa3 gl €7 § 9199 T U831 (Land of Thunderbolts) i "TaHE Seal5 o Uar

(Land of Thunder Dragon) € HenT HieT J? |
(A) 18 | (B) g%
©) s (D) HE

19
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88. Which phase of population growth is

referred to as the period of population explosion in
India ?

(A) Phase-1- 190]-192] (B) Phase-11 - 1921-1951
(€)  Phase-111 - 1951-198] (D) Phase-1V - 1981-201 |

mféﬂmﬁ@ﬁ@fﬁﬁmﬁmkﬂéﬁ"@m ferar wter 37
(A) Y3™mi1_1901-197;

(B) YUE™i-I] - 1921-1951
(C) HIPH-IT1 — 1951-198]

(D) US™A-IV — 1981-2011

89. Whichof the following measures the a

ggregate production of final goods and services taking
_ Place within the domestic economy d

uring a year ?
(A) GDP (Gross Domestic Product) (B) GNP (Gross National Product)

(©)  Per capita Income (D) NNP (Net National Product)

ﬁmﬁamwm@mm@m%m%mmw@m
T I8 O3ums § e

(A) GDP (5 w3z Gy (B) GNP (I8 Imed @3y

©) Y3t fenastnmms

(D) NNP (&< Iedt @3y

90. Which of the following is NOT a consequence of the revolt of 1857 2
(A) The Act for the better Governance of India Was passed in 1858,
(B) East India Company was to exercise the political and administrative control.

(C) India will be ruled directly by the Queen through a Secretary of State.
(D) A council known as the ‘India Council’ was established .

ﬂaffk&ﬁﬁﬁaarwﬂéﬁeéa@aahm‘fé?
(A) “ITIIE I THS B wee

(The Act for the better Governance of India) 1858 f<%
UTH 137 fgpo 7 |
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91.
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NATURAL SCIENCE,

Which of the following salts does not contain water f crystallisation 7

(B) Baking soda

(A) Blue vitriol

(D) Crypsum

(C) Washing soda
I3 1Bfmii &Y fan wre e fgredtads & urd & de g
(A) BB fednrg (B) Mo Az
(C) V= Tmram (D) frumy

92. Ethanol reacts with sodium and forms two products, These are

(A) sodium ethanoate and hydrogen

(B)
(C) sodium ethoxide and hydrogen

- (D)

sodium ethanoate and oxygen

sodium ethoxide and oxygen

HEd s A &8 YHifafan sgerd w2 2 83uw sege J| fea a5

(A) A3 glardge w2 TEEAs

(B)
(C) A EEnTTATELS 713 TESHS

(D) e TETEATENS 113 WITHIAG

93.

A FETEEE %2 MIHIAG

Which of the following is not a way to conserve water ?

(B) Reduce

(A) Replace

(D) Recycle

(C) Reuse
fogst i g U Bore w1 3t a4 2

(A) "8’
(C) Hagag (D] W—Eiﬂi“”
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94, Generally, metals are solid in nature, Which one of the following metals is found in liquid

state at room temperature ?

(A) Na (B) Fe
(C) C (D) Hg
wi Fa 73, Tt 3K yfirad Wit Jeiit ) frrst R Fref O TG R I 3 I
nrere &Y Uy w1l J |
(A) Na (B) Fe
(€) Cr (D) Hg
95. Sun appears to move from east to west around the earth. This means that the earth rotates
from
(A) East to west (B) West to east
(C) North to south (D) West to north
Fow Ta i yaE 3 e ¥ e yeis Jer 1 fem 2 v 3 i e w3
(A) YyaaIURH TS ®) YeHIyges
(€) I3 D) TeHI G
96. The water from the digestive food is mainly absorbed by
(A) Mouth . (B) Duodenum
(C) Colon (D) Rectum
Yo 37a 3 ure i 39 3 fam o Aftoan T
(A) Ya ®) fsgEse
() <StnEd (D) T«

97. During inspiration, the diaphragm
(B) Contracts

(A) Relaxes
(C) Expands (D) Gets folded
Ad B T95, STenrga

(A) WTHFITY B) HoEed
© e ©) W
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When a dogtor is recording your pulse, he is pressuring on your wr

98.

(A) Vein (B) Capillary
(C) Artery .+ (D) Arteriole 3
Hﬁéﬁmwﬁmﬁmﬂm@&?@mﬂﬁﬁwwwﬁ
Ty fgarder a2
(A) ol (B) dfFEr
(©) il (D) THfE
99. During inelastic collision between the two bodies, which of the following quantities alwsy®
remains remain conserved ?
(A) Total Kinetic Energy (B) Total Potential Energy
(C) Total linear momentum (D) Speed of each body
2 =gt fega s g Es. 3 feseiot £ Fre v e B3 IR 92
(A) I8 TFGIr (B) . I8 HI<t G :
() d8IfaIEt (D) TI9 TPE T I23T
100. Which of the following statements is correct ? (assume the earth to be a perfect sphere of

uniform density)
(A) Acceleration due to gravity decreases with increasing altitude.

(B) Acceleration due to gravity increases with increasing depth.

(C) Acceleration due to gravity remains unaltered with increasing latitude.

(D) Acceleration due to gravity 1s independent of the mass of the earth.

I fsfipy (55 farg = 986 A9 2 (Ge) § RS A5 W31 T8 HYTs 9181 Ha B8)
(A) T3 fife 795 Y291 <ue G R FTB Wew J |

(B) g3 g 9195 Y=aI <URI FUE ¥ A T I |

(€) T3 fife F9% Y241 TUR WFHH © &1 FefEn ad A |

(D) I3 e ags R U2 YA I B339 J |
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